Phytoplankton and Productivity OGT Practice
Answer the questions on the back using the following scenario
Phytoplankton are microscopic aquatic algae capable of photosynthesis. 

The rate at which light energy is converted to organic compounds by the photosynthetic organisms of an ecosystem is called productivity. Scientists have developed a method to determine the productivity of phytoplankton in an aquatic habitat using the following steps. 

Method to Determine Productivity 

1. Two bottles, one transparent and one opaque, are filled with equal volumes of water containing phytoplankton from the same depth of a lake. 

2. Initial measurements of the concentrations of various dissolved gases for each bottle are determined from a separate water sample taken from the same depth. 

3. The two filled bottles are sealed and suspended in the water for 24 hours. 

4. After 24 hours, the concentrations of various dissolved gases in each bottle are measured and compared to the initial measurements of dissolved gases. 

The diagram below shows the device used in the “Method to Determine Productivity.” 
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_______ 1. During the process of photosynthesis, phytoplankton converts the sun’s radiant energy into which form of energy? 

A. kinetic 

B. chemical 

C. electrical 

D. mechanical 

_______2. Which process will decrease the amount of dissolved oxygen measured? 

A. osmosis 

B. respiration 

C. photosynthesis

Name:___________________________________________
Date:________
Mods: ____

Photosynthesis Practice
Answer the following questions using the class information for support
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1. Decide which of the two steps of photosynthesis the following statements refer to:
A. light-dependent reaction

B. light-independent reaction
	i. carbon fixing occurs ___
ii. the bonds in water are broken ___
iii. water is broken down ___
iv. Organics (glucose) are formed ___
v. carbon dioxide is broken down ___
vi. sunlight energy is absorbed by pigments ____
vii. carbon dioxide is needed/used ___
	viii. water is needed/used __________

ix. Requires sunlight to proceed _______

x. Water is a reactant ______

xi. The bonds in carbon dioxide are broken and new bonds are built to form glucose _____

xii. ATP is generated ___

xiii. Involves the splitting of water to yield hydrogen protons, oxygen 

    and electrons _____




2. Write the general reaction for photosynthesis.  Circle the reactants and underline the products.  Draw an “X” through the waste product.

3. What are the two major classes of pigments involved in photosynthesis? 

_______________________________   and   ______carotenoids___________
4. Explain why photosynthesis is necessary in providing food for ALL HETEROTROPHS.
_______________________________________________________________________________

_______________________________________________________________________________

_______________________________________________________________________________
